	
	



KENDRIYA VIDYALAYA SANGATHAN

REGIONAL OFFICE VARANASI
SESSIN ENDING  2014-15

CLASS- XI









MAX. MARKS: 70

SUBJECT: INFORMATICS PRACTICES(065)




TIME: 3 HRS


General Instructions:






1.
All questions are compulsory.

2.
Answer in sequence.

3.
Put the questions no. properly.

4.
Programming Language Java & Database MYSQL


Q1. Answer the following questions:




     

a.
What is an operating system? Give two examples of an operating system?
[1]


b.
What is the difference between hardware and software?



[1]

c.
What is a computer virus? 




[1]

d.
Write the full form of RAM and  MICR




[1]

e. Give one example for each of the following:




        [2]

i.
A language processor.           ii.
A utility software.


iii.
A package software.              iv.   Anti Virus.


f. Differentiate between Compiler and Interpreter.




    [2]

g. Write any two differences between System s/w and Application s/w.

[2]
Q2.  a) What do you understand by Java Byte Code?
       [1]

b) What is the difference between TextField and TextArea?
[1]


c) What is the difference between ‘x’ and “x”?
[1]

d) What is the significance of default clause in switch case statement?
[1]



e) What is program Maintenance?
        [2]
        f) What is entry controlled and exit controlled loop? Give example.



        [2]
        g) Write a program to find the factorial of an integer number.




        [2]
Q3.
Answer the following questions:
a) Write a command to view the structure of a table Employee.



[1]

b) What is the significance of DELETE command in SQL? 
[1]

c) Differentiate between   Char and Varchar datatypes in MySql.
[2]

d)  Define Primary Key. How it is different from Unique Constraints.
[2]
e)  Explain SQL subcategories giving at least one example in each category.            
 [2]

f) Hari wants to add a colomn email of varchar type with size 20 in an existing table emp. Half him to write the command.
[2] 

Q4.
Answer the following questions:


a) What output will the following code fragment produce
   



int val, Res, n=1000;




Res=n+val>1750 ? 400 :200;




System.out.println(res);

i) If the input is 2000.
[1]
ii) If the input is 500.
[1]
           b) What will be the final value of digit?
[2]
                int digit ;


  for(digit = 0; digit <= 9; digit++)

                System.out.print(digit);


   digit = 2 * digit ;

- - digit;


c) Find the syntax error(s), if any in the following program;

Rewrite the code after making the correction.
[2]

int sum;value;incr;


int I;


for(i= =0,i<=10,i++)


     sum+=i;


 incr++;


d)Rewrite the following code using while loop:
[2]

int sum=0;


for(int i=1;i<=5;++i)


{


   sum =sum +c;


 }  


System.out.println(sum);


e)Write the equivalent switch statement for the following:
[2]

int Ch;

 
     Ch=Integer.parseInt(ChTextField.getText());

     if(Ch = = 1)

{System.out.println(“ Arts”);

}

    else If(Ch = = 2)

{ System.out.println(“ Commerce”);

}

    else if(Ch= = 3)



{  System.out.println(“Science”);

}
    else

{

   

System.out.println(“Invalid Entry”);


     }


f) Create a Java Desktop Application to find the Discount of an item on the basis of Category of item[Electrical Appliance/Electronic Gadget / Stationary ].The Categories will be implemented in JRadioButton controls. The Discount will be calculated as follows:                        [3+1+1]
	Cost
	Discount (%)

	<=1000
	5

	Otherwise
	10



The extra Discount will be calculated as follows:
	Category
	Discount (%)

	Electrical Appliance
	3

	Electrical Gadget
	2

	Stationary
	1


i) Calculate the total discount as : Discount on cost +Discount on Category

Calculate the discount amount as: cost * discount

ii) Write the code to make txtDiscount uneditable.

iii) On clicking of Exit Button ,it will exit the application
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	Control
	Property Name
	Property Value

	JFrame
	Title
	Discount Calculator

	Jlabel1
	Text
	Enter Cost

	Jlabel2
	Text
	Discount

	JTextField1
	Variable Name
	txtCost

	JTextField2
	Variable Name
	txtDiscount

	JRadioButton1
	Text
	Electrical Appliance

	
	Variable Name
	rdbtn1

	JRadioButton2
	Text
	Electrical Gadget

	
	Variable Name
	rdbtn2

	JRadioButton3
	Text
	Stationery

	
	Variable Name
	rdbtn3

	JButton1
	Variable Name
	btnComp

	JButton2
	Variable Name
	btnExit


Q5.

Answer the following questions:
 a.
Which command is used to change column size from VARCHAR (10) to VARCHAR (50)?   [1]
 b.
What is a NULL value?







  
       [1]
 c.   
What is MySql? Write any two features?






       [2]
 d.  
After creating the "employee" database, you want to use it. Write the command that you should give.











      [1]
 e.
What will be the output of the following :






       [2]



i.
SELECT ROUND(22.417) + POW(4,3) ;


ii.
SELECT LOWER(SUBSTR(TRIM(‘KENDRIYA VIDYALAYA SANGATHAN’),4,10));


iii.
SELECT LEFT(TRIM(‘IPL2014-12APR’),5);


iv.
SELECT CONCAT(CONCAT(‘INFOR’,’ATICS’),’PRACTICES’);
f.
Write the purpose of ORDER BY clause using suitable example.


    
      [2]
g. 
Which command is used  to make changes permanent?




      [1]
Q6.
Write SQL commands for the queries given from a to f and write the output of the SQL 


commands given in part g based on a table LIBRARY shown below:

                [8+2]


Table: LIBRARY

	No.
	Title
	Author
	Subject
	Publisher
	Quantity
	Price

	1
	Data Structure
	Lipschute
	DS
	McGraw
	4
	217.00

	2
	DOS Guide
	NORTRON
	OS
	PHI
	3
	175.00

	3
	Turbo C++
	Robort Lafore
	Prog
	Galgotia
	5
	270.00

	4
	Dbase Dummies
	Palmer
	DBMS
	PustakM
	7
	130.00

	5
	Mastering Windows
	Cowart
	OS
	BPB
	1
	225.00

	6
	Computer Studies
	French
	FND
	Galgotia
	2
	75.00

	7
	COBOL
	Stern
	Prog
	John W
	4
	1000.00

	8
	Guide Network
	Freed
	NET
	Zpress
	3
	200.00

	9
	Basic for Beginners
	Norton
	Prog
	BPB
	3
	40.00

	10
	Advanced Pascal
	Schildt
	Prog
	McGraw
	4
	350.00


a) To display the title of all books with Price between 100 and 300.

b) To display Title and Author of all the books having type Prog and published by BPB.

c) To display the list of all the books with price more than 130 in ascending order of Qty.

d) To display the list of all books whose quantity is less than 4. 

e) To display the publishers and the number of books of each book in the table.

f) To insert a new book in the table LIBRARY.

g) To increase the price of the book title ‘TURBO C++’ by Rs.30.

h) To display the Title and Total Price of all Computer books.The Total Price is calculated as Price * Qty.

i) Write the output of the following:

i. Select MIN(Price) from Library;

ii. Select Sum(Price * Qty) from Library where Qty > 3;

iii. Select Avg(Price) from Library where Qty < 4;

iv. Select Count(Distinct Publisher) from Library;

7. Answer the following questions:

i.   What is e-Governance?




         

  
 
 [1]     

      
ii.   What is e-Learning, how e-Learning will benefit you?
         
 

 [2]
iii. Write two advantage of e-Business sites            




 [2]

KENDRIYA VIDYALAYA SANGATHAN

CLASS XI

MARKING SCHEME

1.a).  An operating system is a program which acts as an interface between a user and the hardware (i.e. all computer resources) eg- windows, Linux, mac etc.  

   ½+½

b) Hardware represents the physical and tangible component of the computer i.e. the component that can be seen and touched.


Software represents the set of programs that govern the operation of a computer system and make the hardware run.








½+½
c) Computer viruses are malicious code/programs that cause damage to data and file on a system.










1m

d) RAM- Random Access Memory      b) MICR- Magnetic Ink Character Reader 
½+½

 e) i) assembler, compiler, interpreter


ii) antivirus or any other utility s/w 
iii) Word processing package or any other package iv) avast or any other anti-virus ½+½+½+½

f) compiler- convert HLL program into machine language in one go. The compiler is not needed in memory as the object program is available
       Interpreter- convert HLL program into machine language line by line. The interpreter has to be present in the memory always.     (Any two difference     )  

2m

g)  System s/w- The software that control internal computer operation. Eg. Os, language processor.

      Application S/w- An Application s/w is the set of programs necessary to carry out operations for a specified application. Eg- tally, photoshop etc. 

(1m for correct def and 1m for correct example.)
2. a) The java Byte Code is the code generated by JVM which is not machine dependent. This is why the java byte code is platform independent.

(1m for correct answer)
    b) TextFeild is used for single line input and TextArea is used for multiline input. [1m]
c) ‘x’ stands for character literals whereas “x” stands for string literals.












[1m]

d) if any case value is not matched in switch case statement the code written in default clause is executed.






[1m]
e) Program maintenance refers to the modification of a program, after it has been completed, in order to meet changing requirement or to take care of errors that show up. 











(2m for correct def)

f) In an entry-controlled loop, the test expression is evaluated before entering into a loop whereas in an exit-controlled loop, the test condition is evaluated before exiting from the loop. In java for and while loop are entry-controlled loop and do-while is an exit controlled loop.



(1marks for correct def+1 mark for correct example.)
g) code for calculate factorial





(2m for correct answer)
   int num,i,f=1;

 num=Integer.pasreInt(jTextField1.getText());

for(i=num;i>=1;i- -)

   f=f*i;

jTextField2.setText(“”+f);

3.a)     DESC EMPLOYEE; 

       
    Or 


DESCRIBE EMPLOYEE;







(1m)

   b) The delete command removes rows from a table




(1m)

 c) The difference between CHAR and VARCHAR is that of fixed and variable length. The CHAR datatype specifies a fixed length character string whereas VARCHAR specifies a variable length string.

  d) Primary key is  a key attribute which uniquely indentify a row in a relation. 
Primary key and Unique key both ensure unique value for each row in a column, but UNIQUE allows NULL values whereas PRIMARY KEY does not. Also there can exist multiple columns with UNIQUE constraints in a table, but there can exist only one column or one combination with PRIMARY KEY.




(1m for correct def +1m for any correct difference)
e) SQL subcategories are 



DDL( Data Definition Language)- create table, alter tabel, drop table etc.

DML( Data Manipulation Language)- insert into,  update table, select etc

TCL( Transaction Control Language) – commit, rollback, savepoint 








(1m for correct subcategories +1m for correct example)

f) ALTER TABLE EMP ADD EMAIL VARCHAR(20);     

(1m for using alter command + 1m for correct add statement.)

4. a i) 400
(1m)

      ii) 200
(1m)







     b. 19



(2m for correct answer)
  c. int sum,value,incr;                                         ½+½+½+½m(½ for each correction)

int i;

for(i= =0;i<=10;i++)


     sum+=i;


 incr++;

d.               int sum=0,i=1;                                         2m for correct conversion


while(i<=5)


{


   sum =sum +c;


   ++i;


 }  



System.out.println(sum);

e.          int Ch;                                                             2m for correct conversion
Ch=Integer.parseInt(ChTextField.getText());

switch(ch)

{

case 1:System.out.println(“ Arts”); break;

case 2:  System.out.println(“ Commerce”); break;

case 3:  System.out.println(“Science”); break;

default:    System.out.println(“Invalid Entry”);


} 
‘ 
f. i)
 
     Code on click event of compute discount.                      (3m for correct program)

double cost, disc,exdisc, net_disc;


cost=Double.parseDouble(txtcost.getText());


if(cost<=1000)

  
   disc=cost*5/100;


else


   disc=cost*10/100;


if(rdbtn1.isSelected())


  exdisc=cost*3/100;


else if (rdbtn2.isSelected())


 exdisc=cost*2/100;


else 


 exdisc=cost*1/100;


net_disc=Disc+Exdisc;


txtDiscount.setText(“”+net_disc);

   ii) txtDiscount.setEditable(false);
    ii) System.exit();
5.   
a. ALTER TABLE 









1m

b. if a column in a row has no value, then colomn is said to be null.


1m

c. MySql is a free, open source relational database management system. A MySql database system consists of a MySql server instance and a MySql database. Some key feature of MySql are: portability, secure system, scalable and support localization.

( 1m for def. and 1 marks for two coreect features)

d. USE employee;









1m
e. i) 86










½+½+½+½
    ii) driya vidy

i) IPL20

ii) INFORMATICSPRACTICES

f.   ORDER BY- ORDER BY clause is used to sort the result of query

    select * from employee order by name;

g. COMMIT;

    6.             
1m for each correct query.

a. SELECT TITLE FROM LIBRARY WHERE PRICE BETWEEN 100 AND 300;
b. SELECT TITLE, AUTHOR FROM LIBRARY WHERE SUBJECT= ‘prog’ AND PUBLISHER=’BPB’;

c. SELECT * FROM LIBRARY WHERE PRICE>130 ORDER BY QUANTITY;

d. SELECT * FROM LIBRARY WHERE QUANTITY <4;

e. SELECT PUBLISHER, QTY FROM LIBRARY GROUP BY PUBLISHER;
f. INSERT INTO LIBRARY VALUES (15,’ THE COMPLETE REF TO C++’,’PROG’,’MCGRAW’, 15,500);

g. UPDATE LIBRARY SET PRICE=PRICE+30 WHERE TITLE=’ Turbo C++’;
h. SELECT TITLE, QUANTITY*PRICE “TOTAL PRICE” FROM LIBRARY;
i. i) 40










½+½+½+½
  ii) 8526

         iii) 143

iii) 7

7. a. E-governance refers to the application of electronic means in governance with an aim of fulfilling the requirements of common man at affordable costs and in fastest possible time.











1m
  b. E- learning is a flexible term used to describe a means of teaching though technology such as network, browser, CDROM or DVD multimedia platform.
The benefit offered by E-learning includes i) on demand availability ii) 
self paced learning 
iii) self motivated interactivity 
  iv) confidence.

  

(1m for correct def. and 1 marks for benefits.)

c. For customers, e-business affect their daily life as 

i) improved speed of response 


ii)cost saving

iii) improved efficiency and productivity 

iv) improved customer service 

(2 m for correct two benefits)


Sub:- Informatics Practices (065)

Class XI

Blue Print 

	Unit Name
	SA 1 MARKS


	SA 2Marks
	LA 
	Total

	Introduction to Computer System
	4(4)
	3(6)
	-
	7(10)

	Introduction to Programming 
	6(6)
	7(14)
	1(5)


	14(25)

	Relational database Management system
	6(6)
	7(14)
	1(10)

	14(30)

	IT Application
	1(1)
	2(4)
	-
	3(5)

	Total
	17(17)
	19(38)
	2(15)
	38(70)
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